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Schreibe dir pro Wort folgende Punkte auf:
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Gesamtpunktzahl:

runter 2 P; rauf 3 P; diagonal alle Richtungen 5 P



s = =< 0« wnw o —o D w
- — or z2 N[O oL —w O 12
&) < ) L Lo Wo-> O o N m
m lo wos> <k <o W0 -
o T o K= wizlli == T O pd
L 2] > —| O Olulx < O w = -
0 <( O D«|l— = N > LW M
z o) Zz X< «c T oy e oc
< wlapPplao - = =
N > 2]x O x o = T
_ T N < w + w O O 4
- > =z wij—] c - -4 T 20
= O W oflo] = X X < m X
Zl> = o o= w - O mw x o O
Wil < S | (o] I G T T O <
T|lox © w0 C =z O N W

Ol %X = | TooQC— 10

ol =S|« O WIl<xc O < -
N 0 |x 2 Z <X > WL = 0
Wl x W j»n O 0O o u N O >m< O 0O x
Ljw > o L O 0= — £ O W D= =2m I
ol —lzlo oo - o xPANKN - FFLo>cax0OO0I W=
g 4 £ <Oz X Ww |- —0o0olHlloN 2z D F O
Wl ¥ = > X IT W W —J—|N = 2 >IN X — <€ Z 2 O
NN Z DX I« Z<« ©D oW aolga >N MO




